
Chords of a circle 

 The straight line joining the center of the circle to 

the mid point of a chord is perendicular to the chord.   

 The perpendicular drawn from the center of a circle to 

chord bisect the chord.  

Example-  

1. 𝑐 𝑖𝑠  𝑡ℎ𝑒 𝑚𝑖𝑑 𝑝𝑜𝑖𝑛𝑡 𝑜𝑓 𝑡ℎ𝑒 𝑐ℎ𝑜𝑟𝑑 𝑜𝑓 𝑡ℎ𝑒 𝑐𝑖𝑟𝑐𝑙𝑒 𝑤𝑖𝑡ℎ 𝑡ℎ𝑒 𝑐𝑒𝑛𝑡𝑒𝑟 𝑜    

if 𝐶�̂�𝐵 = 400  find the value of 𝑂�̂�𝐶  

𝑂�̂�𝐵 = 900 

∴ OB̂C = 900 − 400 

𝑂�̂�𝐶 = 500 

 

2. 𝑜𝑧 𝑖𝑠 𝑡ℎ𝑒 𝑝𝑒𝑟𝑝𝑛𝑑𝑖𝑐𝑢𝑙𝑎𝑟 𝑑𝑟𝑎𝑤𝑛 𝑡𝑜 𝑐ℎ𝑜𝑟𝑑 𝑥𝑦 𝑜𝑓 𝑡ℎ𝑒  𝑐𝑖𝑟𝑐𝑙𝑒 𝑤𝑖𝑡ℎ 𝑡ℎ𝑒 𝑐𝑛𝑡𝑒𝑟 𝑜. 

If 𝑋𝑌 = 12𝑐𝑚, 𝑂𝑍 = 8𝑐𝑚. Find the value of the radius of the circle.  

 

Applying Pythagoras theorem to the triangle oyz

 𝑂𝑌2 = 𝑂𝑍2 + 𝑍𝑌2 

𝑂𝑌2 = 82 + 62 

𝑂𝑌2 = 64 + 36 

𝑂𝑌2 = 100 

𝑂𝑌 = 10𝑐𝑚 

Solve these.  

1. 𝑂  is the center of the circle and R is the mid point of the chord  𝑃𝑄.  If 𝑂�̂�𝑅 =

350. 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓  𝑃�̂�𝑅.  

2. 𝑂 is the center of the circle and N is the mid point of the chord LM. if 𝑁�̂�𝑀 = 450 show that 𝑂𝑁𝑀 

is an isosceles triangle. 

3.  𝐶 𝑖𝑠 𝑡ℎ𝑒 𝑐𝑒𝑛𝑡𝑒𝑟 𝑜𝑓 𝑡ℎ𝑒 𝑐𝑖𝑟𝑐𝑙𝑒. Perpendicular drawn from the center meets the chord  𝐴𝐵 at 𝐷. if 

𝐴𝐵 =24𝑐𝑚 , 𝐶𝐷 = 5𝑐𝑚. Find the value of the radius.  

4. 𝐴𝐵, 𝐵𝐶, 𝐶𝐴 𝑎𝑟𝑒 𝑠𝑎𝑚𝑒 𝑐ℎ𝑜𝑟𝑑𝑠.  The length of the perpendicular drawn from the center to 𝐴𝐵 

chord is 6𝑐𝑚. 𝑖𝑓 𝑡 𝑡ℎ𝑒 𝑟𝑎𝑑𝑖𝑢𝑠 𝑖𝑠 10𝑐𝑚. 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑝𝑒𝑟𝑒𝑚𝑒𝑡𝑒𝑟.  
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